A

PART-C
PHYSICS
~ (Marks : 50)

51. Divergence of curl of a vector is
2.8 0% 0%, 5B doos), BN D0 j

a1 A3 0
-1 (4) Infinity / @505

52. A projectile thrown at an anglé of 30° with the horizontal has a range R;. Another projectile thrown
with the same velocity at an angle 60° with the vertical has a range R,. Then the relation between
R, and R; is
2. (S5 808 $Srons B¥E 30° Semardis IO o T Ry. 5088 SE55°D Do) 0owdES
60° S0 BRI NS T Ty Ry. wowd Ry 5080100 Ry © 5655 Sow0do

R :
M R =2 O Ri=R; (3) Ry =2R; (4) Ry =4R

53. Arigid body rotating about a fixed axis with an angular velocity ‘w” has kinetic energy E and angular
momentum L. Then
‘w’ Sedas Do e.8 P e D0NT SCorbtiay G B9 Ao, (S 'E’ ook &30
Essgito ‘L €000

E g1
ik S b
E_w L
B 173 @ T 2w

54. The angular momentum of a particle moving in a circular orbit with a constant speed remains
constant about '

ST 5555 RO SEE SE0IHBR) 2.8 §a00 oy, Sl (¢5:55 Disas B Sor Roorr Gotia

(1) Any point on the orbit (2) Any point inside the orbit

8 5 200 &y D Doy BooFT 5 5 0 &y D Do) SCoPT
(3) Any point outside the orbit \/(4) The centre of the orbit

5 5 20A0L) &5 2 Dot DOOTHT” 850 5 S oty Sdor

2P

[PT.O.
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56.

7.

38.

14

If the distance between the earth and the sun were half its present value, the number of days in a year
would be approximately
808 Brthogd8 BadSs Mo (g FNed iy JewsE” IS B, HoBBBOE® W A2 Feves
&GOCORD
(163 - \é) 129
(3) 183 (4) 730
For a particle revolving in a circular orbit with constant speed, the acceleration is directed
550 SEE TG 8 $6° SO 2.8 Feaisa G3o0g), Hteasoo &4 OFS® docoso
(1) along the tangent
O 0¥S°
\/(/2) along the radius vectof towards the centre
SO (Hesg dowd edlols H¥S°
(3) along the orbit
5§ 5 Do
(4) along the radius vector away from the centre
DOF (Besg Dowd eSSoes &S’
When two springs of spring constants K, and K, are connected in parallel, the resultant spring
constant is -
K S08aio K; @000 90705™e0 #o 8ot ()0/0is S5rosson Sesn PO (0O YToEIN
Kl KZ
(M K, -Ky) (2) K, + K,
Ao | A
3) K; +Ky) 4 K R
The differential equation of a simple harmonic oscillator is
BV o8 Foto dng), eS8 S8t
d’y dzy 2
1) — + =0 2) — + w e
M 3F +wy S ila WY
d? 2 sz 2
— = Wy =0 4} == 4 =0
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~ 59. In forced oscillations, the state of maximum amplitude represents
2Pt )8 EoTed’ NDH Ko S0 fo YA BroBodd

(1) Free vibrations | ~ (2) Critical damping
5T Sodareo D00 eSteE0
(3) Over damping A4) Resonance
QT WHEFEI0 0TI
60. The following equation represents damped oscillations
2
9 ¥ v wiy-o.
dt? dt

The condition for critical damping is given by
56 Eomroty SrDoD Sa080es0

2
y + de_y + w§y= 0.
dt? dt :
220033 H00Y GBS OGS
A k% = w? @) k2 < w2
1
By &> W @ k= —
Wo

61. For a string fixed at both the ends, the fundamental frequency of vibration is given by
Bot D5G HNOD a0 B B, BT oS oD

T i fm
o =54 ® 13 i7

21

: BT
3) f=21‘[£ ) I= 21&

62. The differential equation of a transverse wave along a stretched string is given by
F T I In this, the units of ‘o’ are
il BKS® B BOK esseD HEBEw

&’y oy
i i o LT 30606" ‘o’ G0y, ESTETe

(1) mxs @) m/s® (3) m? x s2 Jé) m?/s?

x>

[P.T.O.



63.

64.

65.

66.

3>

g 16

The temperature of an ideal gas is increased from 27°C to 927°C. The root mean square speed of its
molecules becomes : :
2.5 e5630) QoY GIoo%), &0 27 C 06 927°C & 2odd &3 o e 56 H0¢5550 S8 Hio
(1) Twice (2) Half

Beo) o - o earHdo
(3) Four times (4) One fourth

T Bew B % B e
m', 'K' and ‘D’ denote coefficients of viscosity, thermal conductivity and diffusion of a gas at a given
temperature. If ‘p’ and Cy denote its density and specific heat at a constant volume then n:K:Dis
equal to
e é;?:@ié A TADOY G0, ?ogé%, %vﬁ% DO0KL J3TE? MOETToRL KOS ', 'K' 50060k ‘D’
A0 TrOERS 0By QO o S05en L0000 LI P’ 5080k Cy @9 N :K: D cdog, dewd

ﬁ)l:c\,:p—1 (2)41: Gy hep !

Q10 @) 1:Cy:p
The Clausius - Clapeyron equation indicates that an increase in pressure increases melting point in

case of
FRODD-ZH0"S BoSGERSD 500 BeiS0 2oDB DS Pido e STTOLH PO

/(1) all substances

o) DTTOLH
(2) substances which expand on solidification.
OGS0 DoBSIE Do Sro? 0%

(3) substances which contract on solidification.
OGS0 DOBBIE $08°J0D e

(4) substances which neither contract nor expand on solidification.
ORISR0 DoBIHED TE0m $oShomrd Boesd SO0

The change in entropy-is |
oS’ &° SR 57esy
\/(1) Positive in an irreversible process (2) Positive in a reversible process
o, Soedar HEHS® (et &, Soe300 (EEaS’ GRreEs0s
(3) Negative in an irreversible process (4) Negative in a reversible process
SR BE3abEES aoerso (8,080 (HI30HE° eoerB o
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67. Planck’s Law of radiation reduces to Rayleigh — Jeans law at
D BG0K BT 5o 3¢5 205 D8E? S EH BO-BS) SRS’ KOFYHH

(1) Shorter wavelengths (2) Higher frequencies
B, BEONRE g0 D5 TR0
/ (3) Longer wavélengths (4) Independent of wavelength.
DE) BEONDE 0000 BEOK DY 5500 A STBBEED

68. A star emits radiation at 6000 K. The wavelength corresponding to the maximum emission intensity
will be approximately

6000 K 565 &%) e.8 55850 400 18,2858 B SomoBodi BENGY 50 Ksmdr
/(1) 50004 (2) 60004 3) 70004 (4) 8000A

69. Which of the followingis applicable to the identical distinguishable particles of any spin
oD )5 FOR DEODIGME s D80 SETOLd $Poiosd

\/(1) M.B. Statistics (2) B-E Statistics
M.B. 3"’0&)55‘&’113 B-E 3‘03)5%

(3) F-D Statistics (4) M-E Statistics
F-D «'3°0$5§:)00 M-E 3“08355:133

70. The diameter of n® Newton ring is ‘d’ when light of wavelength 490 nm is used. If light of wavelength
640 nm is used, then the corresponding diameter will be
490 nm B50NRY 50 1o 5708 GIATPACWPNE N & :&3"5&.)5 Soao alos), Fgso‘d’. 640 nm BSOMOG s0

Ko ST08R EIAMTRODD & FOoKo B, Tgdo
S d (2) 0.766 d (3) 1.306d 4 1.143d

71. In Michelson’s interferometer, which fringes are useful for the determination of zero path difference
IS 95950 S5’ Ky 365 P ITOOWLIH SSATNIT Dejsen

(1) Localized white light fringes (2) Elliptical fringes
TR B 5708 HeJsen B 5B HeJseo

(3) Circular fringes (4) Parabolic fringes
$)BO HeJsen SoPHoah HeJsed

PS [P.T.O.
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72.  In a plane diffraction grating with ‘N’ elements, the intensity of the diffracted beam is
N’ Sorosteo oS08 J5ES Belold oror 2550 DodS srod S

(1) Proportional to \/N (2) Proportional to N
N 5 6508 550808 dotion N £ @808 o808” dotioso

_\/6) Proportional to N2 (4) Independent of N

N? & e5508%5r 50 808° ot N o¢s es5ee:5¢5e5

73.  Adiffraction grating has 5000 lines per cm. If the second order diffraction of a monochromatic light is
observed at 30°, the - wavelength of light is

2.5 25655 Bie3ofp 20063056605 5000 Asseoisyd. e.gas‘:;cs 508 oo, Bocss §°%3 S50 30° 3¢5 DdGd0
VOBBA. B0 S7od BGoK Y 50

/ (1) 58934 (2) 6000A (3) 5500A (4) 5000A

74. p=tan(0,)is

=tan (0 ,) @50
(1) Malus Law (2) Nicol’s Law
00 doXHdoo AES Jadsoo
\/(3) Brewster’s Law (4) Fresnel’s Law
@736 Do @RS davsoo

75. According to Einstein’s relation, the rate of stimulated emission (Ry,) is given by
DSRS PDEBERI0 (FTER, edesd &Tto Be (Rgy)

() Ry =B, pN, (2) Ry =B,

/B Ry=B, p (4) Ry =A, pN,

76. Light emitted by spontaneous emission is
D08 &GS (IS T0° De0SES 570

(1) Coherent (2) Monochromatic
S08)s S0 D858 S08
\/f3) Incoherent (4) More intense
&0 S°0d Q% BB Ko 570

A
PS
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77. Electric field due to a uniformly charged conducting sphere at a point outside it is
DEBST TS Ferset Tio oty ey DotsoR) 5 Moy § S8

q
(1) Zero / (5% VO s
(€) mqe : (4) Infinity / esd055%0

78. Electric field intensity at a distance ‘r’ from an infinite line of charge is (), -linear charge density)
HOBD FEEY) Ko DETDIS O S0od ‘’ E7508" oS § SS ( A -0Ha> DEoTNE o)

A A
1) E= E =
) 4T e, r @ 4T g, r*
A g A
3 e 4) E =
JB) s W Bm ey

79. Ata point on the axis of an electric dipole
2)650595 @356 @Fo Mo é)ocﬂa@ 23

(1) Electric field is zero \/(2) Electric potential is zero
DesogS §o o) oS YIS S0y
,./(3) Electric field is not zero - 4) Eléctric field is perpéndicular to the axis
DS Fgso DS : DesosS o @RS 0ondds” Got

80. Electric susceptibility of a dielectric is given by
8¢5 Sorgg SRHBeIE SA>Te80

A

mi|ml

@) P.E G)PxE @ =

81.  The relation between D, E and 5 is

D, E 50805 P o S0t 50810650 :
() D=E + P () D=E+e,P
D DeeEicP V(@ D=c¢E+P

%>

[P.T.O.
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82. A matenial is having dielectric constant 5. Then the electric susceptibility of the material is
(eo=8.85x10"2C?/N-m?)

5 565 07080 Ko ST Ay, Ao 33083 (€0 =8.85 x1072 €2 /N - m?)

\/(1) 3.54x101 ¢ /N -m? ) 4.425 x10°1 ¢ / N - m?
3) 531 x1071 €% /N - m? @) -1

83. A 500 pF capacitor is charged at a steady rate of 100 %g . The potential difference across the capacitors
will be 10V after an interval of

500 pF 3%e06i0 100%(:— Qosts Bens’ eD8B0 DT°h. 30eb Aotk FEJYoNS B 10V Deoestd

B’Je:gS“e)o
‘/(l/) 50s (2) 20s (3) 10s (4) 5s

84. When 3 capacitors, 2uF ,4puF and 8 uF are connected in series, the equivalent capacitance is
2uF , 4 puF 50000 8pF 393 Ko Sae 306t Fe36° 00500k HOES 3703

(1) 14 pF @) 5 HF
8 3
A) @) o -

W Force of attraction between the plates of a parallel plate capacitor is
RBrOBS Jo%O 3TN0 Aoy, Soto S¢S €855 200

2

q q

M) ¢, aK 2) o, AK
3 2
q | q

®) 2c.A @) 7, AK

86. The relative permeability of a substance is less than unity. Then the substance is
2.8 STgo W), A SR 2.53 K083 $X),% e0wd & Sorgo

\/(1) Diamagnetic (2) Paramagnetic
s @0533‘1,0{9 Sorgo T 0K, 08 Sorgo
(3) Ferromagnetic (4) Ferrimagnetic
" 0,08 Sogo PO 0,08 STo

3>



87.

88.

89.

90.

x>
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The material used for an electromagnet must have
DESCHT,0BBN &DATAOD ST SOESOVD o0

(1) High hysterisis and Low coercivity
DK LRBHD BBl B Foaodyded
(2) Low hysterisis and high coercivity
B35 PO BB A Fangyed
(3) High hysterisis and high coercivity
D5 20D 9005 AL Faxgyded
(4) Low hysterisis and low coercivity
SR 3.5“%35?05 0B BE D §'a208yed

For a material, susceptibility is positive and very large. Then the material is
ey ﬁm"cgﬁﬁ 5'.’0%3@@9.3 da‘é‘s&i-‘{on*’ &0G @B Deuddo ¥OA &) &3 50‘90

(1) Diamagnetic (2) Paramagnetic
GaX>® 0,08 Hgo JT° OHIY0B STgo
(3) Ferromagnetic \/(4) None of the above
P8 ooIm,08 Sorgo PAACH S

given by

DS (SB2R0 AP B TEPEO HoS 17 B0’ 0I,08 eI o
AL FA

(1) = S o
Hl 244!

G) T, e B

Which of the following can be used to accelerate electrons
oo BOEIEHBO DAoL EIATAOBINE
\/( 1) Cyclotron (2) Synchro cyclotron
PEerS o€ pSlers
(3) Betatron (4) Synchrotron
Berers 2oE°ers
The magnetic flux density at a distance ‘r’ due to a long and straight current carrying wire is

[P.T..
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M)* . A magnet of magnetic moment ‘M’ is suspended in a uniform magnetxc field ‘B’. The maximum

<

93,

94.

Lo B

&>

torque acting on the magnet is
‘B’ ASS Mo 508 eaodmo8 o’ ‘M’ @akdm,o8 @roso Ko eao.‘b@“bo@?)& PerEaT 5.
& O, 08B0 DIV MO eI0),

1
(1) Zero/ (20%) (2) 3 MB (3) MB (4) 2MB
The current passing through a coil of self inductance 2mH changes at the rate of 20 mA/s. The emf
induced in the coil is
2mH 50500 (@83 fo Sifidogy Mot EHIPoD ogiy 20 MA/s Bend’ 57038, e digs® (H0s
DT 200
(1) 10pV A2) 40 pv
(3) 10mV (4) 40 mV
The field produced in a Ballistic galvanometer is
DY MPosSaoatnd’ 8y0S deo
\/1) Radial field ' (2) Angular field
Bans §so §%3a0 §eso
(3) Analytical field (4) Non-uniform field
e o Dsbam 8 §o
A solenoid has 1000 turns. Its area of cross-section is 7 cm? and length 1 m. If the relative permeability
of the core is 1000 then its self inductance is
28 FBTanES’ 1000 Sty 0. T @S’ FToe 7 em’ Hodow Y 1 m. §6 dbos‘b. R
cOB&OI)@@Qg 1000 £2000% T H5000 (2883 :
(1) 0.88 H (2) 0.88x 10> H
(3) 0.88x 10~ H (4) 8.8H
In CR circuit, the current

CR 00008 esogs @m0

(1) Leads the voltage by 180° (2) Leads the voltage by 90°
SGRETy 180° S0 oo S5 90° So00sH> dsociisd

(3) Lags behind the voltage by 180° ﬂ4) Lags behind the voltage by 90°
S35 180° D0¥ diocsoiso TgesTy 90° D08 dsocoro
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96. Inan LR circuit, L = 200 mH and R = 100 Q. The time constant of the circuit is
LR Soood’ L =200 mH $58050 R =100 Q. & 50000 Glo¥), So Jooko
) 2ms 2) 0.5x1073s
(3) 02ms @) 5x1073s
97. In LCR series resonant circuit, which of the following is maximum
LCR @63 &350~ S0a008” AOHom &otase :
(1) Voltage (2) Frequency
Sge FRSERoI0
\XB.) Current (4) Impedance
DS (o 00T

98.

09,

100.

In an electromagnetic wave, the phase difference between electric and magnetic vector is
DEESANT,0 BG0NoE” DS BoBOw eIV, 0H FEb HOF B0g 5T B0

() Zero/ (55%) 5
I'T
®) i

The direction of propagation of an electromagnetic wave is given by
DEANTY,08 BEOH IS B0 BOAHELIHE

2

g - @ B
@G) E-B S Ex B

Displacement current through a circuit is
&8 30a00S" éi) GRHT0LT DSy

oD ' OE

\/(1) e (2) Mor
o ' oF
(3) = '51_ (4) H, €, EE—

a»

[P.TO.
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CHEMISTRY

(Marks : 50)

101. Which one of the following is an organometallic reagent?
EoBre3S” DO S SIS EES0?

(1) Baeyer ~(2) Grignard
Baded : BATE

(3) Tollen's (4) Phenolphthalein
'35, pdso

102. Dipole moment is expressed in Unit.

BgIGI0N @ISR ————— (SS0EadNS” BevHED.

(1) Gauss (2) Fermi
R EoeY

e (3) Debye (4) Faraday

& e

‘ - 103. Which of the following pairs of ions is isoelectronic?

Eod o ealroed® N8 éz.‘)ooengi)g?

(1) F and CI” “A2) F~and 0%
F~ 5080%0 CI™ F~ S08axo 02~
(3) Na" and K* 4) Na® and Mg*
Nat So8axs K* Nat 508010 Mg"

104. The most abundant alkali metal in the earth’s crust
LIS R8T ool 8 S5En

' (1) Lithium 2) Potassium
d&oYo Fera0H0
" (3) Rubedium (4) Cesium

SHddEavo S0
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105. Which of the following compounds is efflorescent?
808 BDoisHd” &sergianiiod 87

(1) NaHCO3 (2) NapCO03.H,0
A3) NapC03.10H20 (4) NapCO3
106. Identify the lowest lattice energy containing compound.
¥ Tosi§ie TRRPRND KHGoHIL
A1) Csl (2) KBr (3) NaCl (4) LiF

107. Which of the following elements shows variable valency?
808 Sarestod’ D STro¥ SodresBly EE00HR?

(1) Boron . (2) Gallium (3) Indium (4) Thallium
SorS woako lelmlovelel a0
108. is amphoteric in nature.
BGISEPSAE KoEase SORSE
(1) K20 ) CaO (3) MgO “(3) AlO3

109. Which of the following ions shows least magnetic moment?
808 T3S’ etbsoy eabIY,08 ErLEIN (BEBOB oK 262

() NiZ* ) Feo' @) Co*t @) cu*t

110. Find out maximum density element in the following.
GobmedS’ BBy o SORS SorostR) HGoHHN.

(1) Gold | “(2) Osmium
2308000 &s?o&o‘,’oo

(3) Magnesium (4) Mercury
ofiyacdo DUSBHH0

111. The most characteristic oxidation state of Lanthanide elements is
OGN SaTOS® (HS0PAS eI S

(1) +2 @) +6 - B) +3 @) +5

PS

[P.T.O.
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112. According to HSAB theory, which of the following is a soft base?

\/(1) SCN™ () Br (3) soi
113. Geometrical Isomerism is exhibited by
FOF ot BN
\/6) Pt(NH3)2Cly . (2) Pt(NH3)3Cl
(3) Cu(NH3)3Cl (4) Co(NH3)3Br
114. Which element is present in Vitamin Bj,?
DS By Soth Ko Saresn D89
(1) Magnesium (2) Iron
oo 08
(3) Manganese \@ Cobalt
SRR : §arey
115. Which of the following is a secondary pollutant?
0B T%3S" BB SPeys el DO?
(1) Carbon monoxide \4) Para acetyl nitrate
S T TT° IS DD
(3) Sulphur dioxide - (4) Nitric oxide
Soyd GogH D38 e3yeo
116. The stable oxidation state of Chromium is
EDoao RS edssen 8 e
(1) +5 @ 2 () +3

HT.

PS

HSAB 2cyoeed) e300 808 Te38’ D8 Soygesn?

Adams catalyst is
€305y SBE%I®

(1) PUNi (2) Pt “(3) PYPtO

(4) R0

(4) +4

(4) PtO/PtO
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118. Find TUPAC name for the following compound.

Bod B 3oy, TUPAC T SR0f"08.

CH,-CH-CH,-CH-C-CH;,
I kel
- CH, Br -+ O
(1) 2-Methyl-4-Bromo—2-hexanone
2-20BS4SDr-2- TGS
(2) 3-Bromo-5-Methyl-2-hexanol
3-(°AT-5-209S5-2- 25T

m) 3-Bromo-5-Methyl-2-hexanone

3 Dr-5-2095-2- 2T S
(4) 4-Bromo-2-methyl-5-hexanone
4-5D0-2-209S-5- 55 %

119. The addition of bromine to cis-2-butene forms

25-2-2p3 S50 D00 FOBVIPE MO

(1) 1, 2—dibromobutane (2) Meso-2,3-dibromobutane
1, 23 @ arargEito DoRF-2, 3-BERDT WEIS
v@) d,1-2, 3-dibromobutane 4) 1,4-dibromo-2-butene
d,1-2, 3-SR argdo 1,4-36 - 2-age3S

120. Huckel's rule is

12].

TS oXHR0H0

(1) (4 nt+4) 7 electrons (2) (4 +2) n electrons
(4n + 4) © JoFH (4 +2) 1 g

(3) 4n 7 electrons 4) (4n + 2) 7 electrons
4dn Q@@;Eﬁg : Gn+2)n DeLs;ég

Which of the following has more acidic property?

BobredE’ D8 B ey RN $OA GH0?

(1) CH3COOH (2) CH3~CHp—-COOH

(3) Br—CH»—COOH +(4) CI-CHp-COOH

[P.T.O.



122. Nitrobenzene on further nitration forms

28

DS Booko FON JESVETEIS wOPS DeyEnd

(1) Ortho-dinitrobenzene
e;ef;“: —@Q@Saﬂoéasa

(3) Para dinitrobenzene
JO GRS Dot

-\/(2) Meta-dinitrobenzene

erg DS Boedso

(4) 2,4-dinitronitrobenzene
2,4-23e5- 25 Bodo

number of Stereoisomers.

123. Tartaric acid contains
o208 €558 Ropg KOS BB Feydsres SO docio.
) 2 ) 3 3) 4 @) 1
124. Predict A and B products in the following reaction.

§od 65" A Sodak B Eatrerrpio Moo,

KCN i

Ph-N,CI > A
(1) Benzaldehyde and Benzylamine
Bowrdarcd $o80%0 HoBS &Rk

\/(3) Benzonitrile and Benzoic acid
HoE PGPS S000k Hoonk e

H,0
sl

(2) Aniline and Anthranilic acid
. D% Bobak esoEOf essusn

(4) Benzoic acid and Benzamide
BoF o essonin $o0ak HoeRoc

125. Which of the following does not possess any element of symmetry?
EobTeIS” I8 TS §9 &otior

126.

PS

(1) Ethylene glycol
36050 AsS

(3) Meso Tartaric acid
0P erTOE essionn

2, 4 — DNP test is used to identify
2, 4 — DNP 5853 &5arfod

(1) Carboxylic acids
S"O"Jéa@g Eﬂ:)?:&)

(3) Amines
ERVEY

“6 (+)Tartaric acid
(H)eroS es5o8a

(4) Glycerol
Asoed

20 KOQI.
(2) Hydrocarbons
~/(4) Carbonyls
6 PevR
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127. The most basic compound in the following is
80b T3S LBRY U SAEissn

(1) Aniline : \/6 Benzylamine
@80 | BoBSesnoid

(3) p-Nitroaniline (4) p-Bromoaniline
p-@@.’ieeai)@m p-E0 0%

128. Ozonolysis of 2, 3-dimetﬁyl-2-butene gives :
2, 3-d-2-arpdios LEREGR0 ISP FBHO

(1) Methanol and Propionic acid \/(f) Two Acetone molecules
Qoo S00ak> FHAFIE essosn Both eSS eruHed

(3) Formaldehyde and 2-Methyl Propanal (4) Two Acetaldehyde molecules
PO 5000k 2-098 (@SS 0L WNEFYAPED BEVPHOD

129. The following reaction is known as
808 BB ———— ot

)
|
CH3-CHy—C—CHj3 _ HoN-NH, s CH3—CH»—CH,—CH3

(1) Meerwein—-Pondorf-Verley reduction v('2/) Wulff-Kishner reduction

WIS Norby D8 Foowsteasw &) $9pb FoarEseasd
(3) Clemmensen reduction (4) Birch reduction
£50000 Foorrstieaso 28y Foorssensn

130. Find out X and Y in the following reaction
o8 BEGE X Hodan Y oo S0isod
Ph-CH,—Cl + ag. KCN —» X +Y
(1) Ph-CHj3 + KCI (2) Ph-CH,-NH; + KCl
A3) Ph-CH,-CN + KCl (4) Ph-CH,-OH + HCOOH

[P.T.O.
PS
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131. Which of the following is correct epimeric pair?
o8 Te3E" DB PO BB 2308 9

%) Glucose and Mannose i (2) Glucose and Rhamnose
, K% Sobatn $rSE | KrE'eE Bo8atd TSl
(3) Glucose and Fructose (4) Mannose and Rhamnose
K8 Soday S $SE 52000 oSS
132. When Benzene diazonium chloride is treated with boiled water product is formed.
Boek% BN ey Batbrd eI 198y 2B —————— Do,
(1) o-Cresol (2) o-Aminophenol
0-E& 0-S HTren
(3) Aniline ; \% Phenol
O Sren

133. Natural amino acids configuration is
e oS eSre D

(1) D “@L (3) R ) E
134. The number of Amide bonds in a tripeptide is

@_b"gc‘.ﬁaéoci: BP0 VO éoa:s

o

(1) 4 @ 1 oyl 43
135. Energy in an ideal gas is |
©08 Trabod) ¥
(1) KE + PE ‘6} KE : (3) PE (4) All the above

E)-m;loﬁ)

136. According to the ideal gas laws the molar volume of a gas is given by
SEGITOY) DT ESEH0 .8 TR W), D PoBHOSRTERSw

. : 2
\4) 22.4 lit ‘6 REp - () PV =RT @ 27bRT
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137. Crystals can be divided into how many categories?

Bedsrod A Soreor ekesd DI?

v (1) 6

138.

3) 8

Silicon is a
OO5TS 95056 e

\/(1) Semiconductor

(1)

140.

141.

eﬁg Py e )
(3) Conductor
P2 oo )

@7

@9

(2) Non-conductor
ITIER00

(4) None
DBALOK T

How many atoms are present in a unit cell of sodium?

Fdavo §Bc 9eItuotie &8 BErnEemod’ SEsrEuPe Sogy JoB?

(1) 2
(3) 4

Ice is an example of
oo B &omToen

(1) Ionic crystal
el Hedssw

(3) Mesomorphism
DFSTGyesson

Isotonic solutions have
D0 (FTHI0E [TrSeTen ‘

(1) the same boiling point
o8 el o

3) the same Osmotic Pressure
23 (STDHRGE HesS0

2) 6
4 10

(2) Covalent crystal
EUSUSR bV SRRV SR o

\,(4) Molecular crystal
er PHrIEsn

50N &ocHrise.
(2) the same freezing point
28 005 FBB®

(4) None of the above
P T

[P.T.O.
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142. For a spontaneous reaction A —> B which of the following is correct?
VALEKHB B A - B 5D $odanedS’ D8 90asd?

(1) AS is +ve and TAS > AH (2) AH is +ve and AH > TAS
AS +ve 308aw TAS > AH AH +ve S308a%o AH > TAS
(3) AS is —ve and TAS > AH (4) AG and AH both are negative
- AS —ve S08an TAS > AH AG 3580 AH Bocoso 200eTeSo

143. Henery Law is not applicable to
R Dok BIE 500,

(1) HCl v6 HCl and NH3
(3) NH3 ' 4) Hy

144. The detergent action of soaps and synthetic detergents is due to their
Qdeayen Sodakw Sy Sop3e Sopests BRE, e S5

(1) Interfacial area : Vé) Emulsifying property
o8BS So JT o5 D308y58er G365
(3) High molecular weight (4) Ionization
@0 ©egrEE @ADHISSE

145. The relative lowering of vapour pressure is equal to the mole fraction of solute. This is the
statement of

DY FRAISD HESE0 [E S SN0 HErSS0. Ba 50 BID BDoHss

(1) Vant Hoff Law (2) Ostwalds Dilution Law
Tr0eS 58D D00 ey D oHos0
_3) Roult's Law (4) None
3Gy doboBo DBAL0 5%

146. Which of the following gases has highest rate of diffusion?
$oB TaHos” BIS it Ben wBHS?

(1) COp v(2) NH;3
(3) N2 4) O

PS
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147. The first law of thermodynamics is given by
égﬁ@g (@0 QADER BLVDHNE

(1) AE =q-W “(@) AE = q+W

(3) q=AE+W @) W=q+ AE

148. Which of the following has Frenkel defect?
€08 T%IS° D8 RS &' $DAGOCN?

(1) Sodium Chloride : (2) Graphite
oo §8eo 0

_A3) Silver bromide (4) Diamond
o B B5300¢5

149. When a non volatile solute is added to a solvent the boiling point is
28 werile EITR of ESeId OVIRPC T FrAPEISss FswHn

(1) Decreased : \/(2) Increased
é‘sdgéo ' MO8

(3) Unchanged : (4) None
280y &Od DBOXD S

150. Unit of entropy is
oS Y, EETEas00

1

(1) Atm mol (2) KJ/mol
werS3rsl KIRrS
) K Vmol ' (4) Calories/mol.
JK_1/55°6 edh /e




